Exercise answer section 

Chapter 9

Estimation and Confidence Intervals

Exercise 9.1

The z value is 2.33, found by Appendix B.1 and locating the value 0.4901 in the body of the table, and reading the corresponding row and column values.
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Exercise 9.2

a.
The sample mean is given: 
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b.
The population mean is not known. The best estimate is the sample mean of 5.67. 

c.
Construct a 95 percent confidence interval for the population mean. Use formula [9-2].
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d.
The t distribution is used as a part of the confidence interval because the population standard deviation is unknown.

e.
It is reasonable for SkyBlue to claim that the mean flight time between New York and London is five and one half hours since 5.5 is within the 95% confidence interval.

Exercise 9.3


[image: image5.wmf](

)

1

$2020036

$1502.33$150$7.05$142.95to$157.05

12001

36

pp

Nn

pz

nN

æöæö

-

--

æö

±=±=±=

ç÷ç÷

ç÷

ç÷ç÷

--

èø

èøèø


Exercise 9.4

The z value is 1.65, found by Appendix B.1 and locating the value 0.4500 in the body of the table, and reading the corresponding row and column values. Note that 0.4500 is exactly half way between 0.4495 and 0.4505.
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Exercise 9.5
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(Common practice to round up when determining sample size.)

Exercise 9.6
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